SC968 PANEL DATA METHODS FOR SOCIOLOGISTS ASSESSMENT
This assessment counts as 50% of the final mark for SC968, unless the student’s exam mark is higher, in which case the course is assessed on the exam mark alone.

For this exercise, use the data set stored in the SC968 area as SESSION6.dta Please type your answers into this assignment sheet; you may also copy and paste output from STATA.

The deadline for this assessment is Friday 24th April 2009. Note that several of the models in the assessment take some time to run; please allow sufficient time to complete it!
1.
TABULATING SMOKING BEHAVIOUR
Use the variable smoker in the data to generate a dichotomous variable indicating whether an individual smokes. Use the tabulate command 
(a) to calculate the percentage of your sample who smoke
and (b) to assess whether there are any obvious gender differences in the proportion of people who smoke.

2
TRANSITION MATRICES FOR SMOKING BEHAVIOUR
Generate a transition probability matrix showing the transitions between smoking and non-smoking. 

What does this matrix tell you about the proportions of people starting and giving up smoking? 

3 
FIXED AND RANDOM EFFECTS LOGIT MODELS ESTIMATING SMOKING BEHAVIOUR
Estimate fixed and random effects logit regressions using this dichotomous indicator of smoking as dependent variable, and the following as explanatory variables:

· Sex
· age and age squared
· educational status
· whether the individual has a partner
· the number of children in the household
· whether there is a baby aged under 1 in the household.

Paste or type in the results from the two models. 

Comment on the findings from the two models, and the differences between them.

The data set contains interaction terms between female and all the other variables listed. Estimate models which include these interaction terms, and drop interaction terms which you feel do not contribute to the model. Type or paste your results below, and comment on your results. Be aware that there is no one “correct answer” to this part of the exercise. 

4
PANEL DATA MODELS FOR CONTINUOUS VARIABLES 
In the classes this term, we have examined models which estimate measures of psychological wellbeing. Use as your dependent variable the Likert score (saved as the variable LIKERT in the data) and estimate within, between and random effects models with the following explanatory variables:

· Sex

· age and age squared

· whether the individual has moved house in the last year

All these variables are already present in the data, with the exception of the last one, which you should generate from the variable plnew.
Tabulate or paste your findings below, and comment on the differences between the models – particularly the differences between the estimated coefficients on moving house in the last year. 

Now, estimate within and between models which include all the above explanatory variables, plus the following:

· whether the individual has a partner

· the event of getting a partner

· the event of losing a partner to widowhood or a split

· whether one is not working because unemployed or sick

· indicator of poor physical health

· whether there is a baby aged under 1 in the household

· whether the individual smokes

Don’t record your findings, but explain 

(a) why we include four variables indicating partnership, not just one; and what inferences we can draw from the coefficients on partnership

 (b) why the estimated coefficient on the smoking variable is positive and significant in the fixed effects model, and insignificant in the between model. 

Would it be correct to infer from the fixed effects model above that smoking causes poorer psychological wellbeing? 

One may hypothesise that the relationship between smoking and psychological wellbeing is driven not by a relation between wellbeing and smoking itself, but by a relationship between wellbeing and/or starting and stopping smoking. Explain why this may be a reasonable hypothesis to investigate

Then, create two variables indicating the events of starting and stopping smoking, and add them to the fixed effects regression estimated above. Report your results, and the inferences you make from them, below. 

Finally, test whether the fixed or random effects model is preferable in this case.

